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(1) EH&RE (v) LTHOERICLD v = 10,0 %
{2) Bl & MEE (m) g
_ *oL _ 2
160
XoT m = 33.8 N/wf
(3)7kE A REE(W/C) m= -12.5 + 24.5 X C/W
W/C =245 = (33.8 + 12.5) X 100 = 52 % [55/(J:I3E{IE)]
W/C = %
(4) BokE (W) MTEDEREIT TED W = 172 kg/m
(BVHEfi AT FE(C) C=W~= W/C) X 100 = 172 =52 X 100 = 331 ke/ni
Cv=C — BE = 331 = 3.04 = 109 L/nd
(6) =& (A) A =45 9% X 1000 =45 L/md
(7)BEHEME(G) ZFIEOERFICID HIERK = 0.600 m/m EER =590 %
Gv == (.605 X 1000 X 59.0 = 100 = 357 L/od
Glv = Gv X 50.0 % = (78 L/m Gl= GIVXEWEE = 178 X 2.60 = 463 ke/nd
Gov = Gv X 50.0 % = 179 L/ni Gl= GIXEEHE = 179 X 2.60 = 465  kg/mi
(8) BATHIEHME (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 683 = 317 L/od
Sly = Sv X 70.0 % = 222 L/ud Sl= SIVXZEBEE = 922 X 256 = 568 kg/ni
Sy = Sv X 30,0 % =95 L/od S2= SIVXEWHE = 095 X 2.56 = 243 ke/nd
(9) fHEME (s /a) s/a = Sv + (Gy+Sv} X 100 =470 %
(10) BATEMAE (Ad) Ad = C X JNE X BE = 3310 X 0.9500 % X .00 = 3. 14 kg/m
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